

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SJZ 5525P

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	AIRCON CONDENSER	DENTED	1,120.00	1,120.00
1	AIRCON CONDENSER ALUMINIUM PIPE	NOT NECESSARY	375.00	-
1	AIRCON CONDENSER DISCHARGE PIPE	NOT NECESSARY	382.00	-
1	ENGINE MOUNTING LH	NOT NECESSARY	200.00	-
1	ENGINE MOUNTING RH	NOT NECESSARY	300.00	-
1	FRONT BONNET	DENTED	1,100.00	950.00
1	FRONT BONNET 'LOGO' EMBLEM	NECESSARY	50.00	50.00
2	FRONT BONNET HINGES L/R @\$90.00	BENT	180.00	180.00
1	FRONT BONNET MECHANISM LOCK (LOWER)	DAMAGED	179.00	179.00
1	FRONT BONNET MECHANISM LOCK (UPPER)	NOT NECESSARY	100.00	-
1	FRONT BUMPER	DEFORMED	1,000.00	760.00
1	FRONT BUMPER BLACK PROTECTOR	NOT NECESSARY	160.00	-
1	FRONT BUMPER REINFORCEMENT	NOT NECESSARY	400.00	-
2	FRONT BUMPER SIDE RETAINER L/R @\$70.00	NOT NECESSARY	140.00	-
2	FRONT BUMPER SIGNAL LAMP L/R @\$71.00	CRACKED	142.00	142.00
1	FRONT BUMPER TOP PANEL	BENT	325.00	250.00
2	FRONT FENDER INNER SHIELD L/R @\$190.00	NOT NECESSARY	380.00	-
2	FRONT FENDER L/R @\$700.00	TO REPAIR SEE LABOUR	1,400.00	-
2	FRONT HEADLAMP L/R @\$1250.00	CRACKED	2,500.00	1,600.00
1	FRONT HORN	NOT NECESSARY	98.00	-
2	FRONT SIDE LAMP L/R @\$225.00	CRACKED	450.00	450.00
1	FRONT SUPPORT PANEL	BUCKLED	700.00	700.00
1	RADIATOR FAN BLADE	NOT NECESSARY	190.00	-
1	RADIATOR FAN COWLING	NOT NECESSARY	290.00	-
1	RADIATOR FAN MOTOR	NOT NECESSARY	460.00	-
1	REAR BUMPER	DISTORTED	1,100.00	720.00
1	REAR BUMPER BLACK PROTECTOR	NOT NECESSARY	250.00	-
1	REAR BUMPER INNER TOP BRACKET	BENT	325.00	325.00
1	REAR BUMPER RH MUDFLAP	TORN	290.00	290.00
2	REAR BUMPER SIDE RETAINER L/R @\$90.00	O/S CRACKED	180.00	90.00

Report Ref No. CS/INC24120265/Aqh3e2(N)



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR BUMPER TOP COVER	DEFORMED	480.00	390.00
1	REAR END PANEL	DENTED	700.00	490.00
1	REAR RH FENDER	DISTORTED	1,890.00	1,150.00
1	REAR RH FENDER GLASS WITH MOULDING	NOT NECESSARY	225.00	-
1	REAR RH FENDER INNER AIR VENT	NOT NECESSARY	100.00	-
1	REAR RH FENDER INNER PANEL	TO REPAIR SEE LABOUR	496.00	-
1	REAR RH FENDER INNER SHIELD	NOT NECESSARY	226.00	-
1	REAR RH FENDER INNER TRIM	DEFORMED	600.00	370.00
1	REAR RH FENDER PROTECTOR	NOT NECESSARY	200.00	-
1	REAR RH KNUCKLE ARM	DAMAGED	796.00	560.00
1	REAR RH KNUCKLE ARM BEARING	DAMAGED	290.00	290.00
1	REAR RH LOWER ARM	BENT	505.00	390.00
1	REAR RH STABILIZER LINK	BENT	190.00	190.00
1	REAR RH TAILLAMP	CRACKED	700.00	460.00
1	REAR TAILGATE	TO REPAIR SEE LABOUR	2,160.00	-
1	REAR TAILGATE 'LOGO' EMBLEM	NOT NECESSARY	50.00	-
1	REAR TAILGATE CENTER REFLECTOR	NOT NECESSARY	496.00	-
1	REAR TAILGATE MECHANISM LOCK	NOT NECESSARY	205.00	-
1	REAR TAILGATE WEATHER STRIP	NOT NECESSARY	205.00	-
1	REAR TAILGATE WINDSCREEN MOULDING	NOT NECESSARY	260.00	-
1	REAR TAILGATE WINDSCREEN MOULDING (SMALL)	NOT NECESSARY	100.00	-
	LESS 20% DISCOUNT		-5,128.00	-2,419.20
			20,512.00	9,676.80
	SPECIAL NETT ITEMS			
1	SET FRONT BUMPER CLIPS (SN)	NECESSARY	80.00	30.00
1	FRONT BUMPER LOWER SPOILER (SN)	DEFORMED	1,500.00	800.00
1	FRONT BUMPER NUMBER PLATE (SN)	BENT	25.00	25.00
1	FRONT BUMPER NUMBER PLATE HOLDER (SN)	NOT NECESSARY	50.00	-
2	SET FRONT FENDER INNER SHIELD CLIPS L/R @\$50.00 (SN)	NOT NECESSARY	100.00	-
1	RADIATOR (ALUMINIUM) (SARD) (SN)	DENTED	2,500.00	1,600.00
1	SET REAR BUMPER CLIPS (SN)	NECESSARY	80.00	30.00

Report Ref No. CS/INC24120265/Aqh3e2(N)



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR RH 195/55R15 TYRE (SN)	CUT	500.00	180.00
1	REAR RH FENDER GLASS SEALANT (SN)	NECESSARY	80.00	40.00
1	SET REAR RH FENDER INNER SHIELD CLIPS (SN)	NOT NECESSARY	50.00	-
1	REAR RH SHOCK ABSORBER (SN)	BENT	2,500.00	680.00
1	REAR RH SPORT RIM (SN)	CUT	1,000.00	480.00
1	SET REAR RH TAILLAMP CLIPS (SN)	NOT NECESSARY	25.00	-
1	REAR TAILGATE WINDSCREEN MOULDING SEALANT (SN)	NOT NECESSARY	80.00	-
1	REAR TAILGATE WINDSCREEN SEALANT (SN)	NOT NECESSARY	80.00	-
			8,650.00	3,865.00
	<u>LABOUR</u>			
	TO REMOVE, CHANGE AIR CON PARTS, VACUUMS, REFILL AIR CON GAS.		180.00	60.00
	TO REMOVE, REINSTALL ELECTRICAL WIRING HARNESS, CHECK LIGHTING AND RESETTING HEADLAMP FOCUSSING. (TO FR)		80.00	30.00
	TO REMOVE, REINSTALL ELECTRICAL WIRING HARNESS, CHECK LIGHTING, AND REWIRE FOR PARKING SENSOR.		80.00	30.00
	TO REMOVE, REINSTALL TAILGATE WINDSCREEN.	NOT NECESSARY	200.00	-
	TO REMOVE, REINSTALL FENDER GLASS.		150.00	60.00
	TO REMOVE, CHANGE REAR SUSPENSION PARTS, AXLE CARRIAGE, ABSORBER, LOWER ARM, TOP ARM, TRAILING ARM, KNUCKLE ARM, WHEEL BEARING, BEARING HUB AND ETC.		350.00	200.00
	TO ROAD TEST DRIVING, CHECK AND RESETTING WHEEL ALIGNMENTS SYSTEM.		100.00	80.00
	TO REMOVE, REINSTALL ROOF TOP TRIM UPHOLSTERY, CUSHION SEAT, TRIM GARNISH, TRIM LINER CARPET. (TO FR)		100.00	60.00
	TO RE-SPRAY PAINTING ON THE REAR BOOTLID, REAR END PANEL, REAR FENDER (L/R), SPARE TYRE PANEL AND REAR BUMPER.		1,200.00	700.00
	TO RE-SPRAY PAINTING ON THE FRONT BONNET, FRONT SUPPORT PANEL, FRONT FENDER (L/R) AND FRONT BUMPER.		1,400.00	1,100.00

Report Ref No. CS/INC24120265/Aqh3e2(N)



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	TO PROVIDE LABOUR, WORKMANSHIP TO CHANGE THE ABOVE DAMAGED BODYPARTS, REPAIR, RECONSTRUCT AND RE-ALIGN BODY STRUCTURE, BODY ALIGNMENTS AND DAMAGED CONSISTENT TO THE ACCIDENT. INCLUSIVE OF THE REPAIR OF FRONT FENDER L/R, REAR RH FENDER INNER PANEL AND REAR TAILGATE.		2,800.00	2,000.00
	TO APPLY ANTI-RUST CHEMICAL ON REPAIRED AND REPLACED PANEL.		200.00	120.00
	TO REMOVE, REINSTALL TAILGATE MECHANISM AND CHECK FOR FUNCTION.	NOT NECESSARY	80.00	-
			6,920.00	4,440.00
	GRAND TOTAL		36,082.00	17,981.80

RECOMMENDED COST OF LUMP SUM REPAIRS		14,300.00
(TO ITS PRE-ACCIDENT CONDITION) (CONFIRMED)		·

Report Ref No. CS/INC24120265/Aqh3e2(N)

TOTAL FOR SPARE PARTS: \$ 29,162.00 \$ 13,541.80 TOTAL FOR LABOUR: \$ 6,920.00 \$ 4,440.00 TOTAL REPAIR COST: \$ 36,082.00 \$ 17,981.80

K.S.

**ADRIAN LING WAI PING** 

B.Eng, AMSOE, AMIRTE, AMSAE-A, M.MATAI

h

K.K.LAU CPT(RET)

BEng(Hons),B.Bus,MBA,PEng,PE, MInstAEA,MASME,MIRTE

**REGD Auto Consultant-SAE, Licensed Appraiser** 

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.